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T0-92 SOT-89-3*
2.2V 2.4% a S-81322HG-KW-X
2.8V 2.4% Ya S-81328HG-K0-X
3.0 V& 2.4% S-81330HG S-81330HG-KB-X
3.1V 2.4% Ya S-81331HG-K3-X
3.2 V& 2.4% S-81332HG S-81332HG-KC-X
3.3V 2.4% Ya S-81333HG-KF-X
3.5V 2.4% S-81335HG S-81335HG-KI-X
3.7V 2.4% S-81337HG S-81337HG-KE-X
4.0 V£ 2.4% S-81340HG S-81340HG-KJ-X
4.2 N+ 2.4% Ya S-81342HG-KN-X
4.3 V£ 2.4% a S-81343HG-KP-X
4.7 V+ 2.4% S-81347HG S-81347HG-KQ-X
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S-813
1. S-81322HG-KW-X
3
( 1 Ta=25°C)
Min. Typ. Max .
Vour V=42 V, 14,;=30 mA 2.147 | 2.200 | 2.253 v 1
* Vs 1,,;=30 mA v, 0.22 | 0.44 v 1
lor=10 p A 30 mA
v, ot 7 60 150 v 1
our Vy=4.2 V N "
Iy Vy=4.2 V, v, 16 30 A 2
—Vor Vi=3.2V 14V % | 0.04 | 0.2 | wv 1
Viv Vo 1o;r=30 mA
Vi Y Y 15 v Ya
Vour 1o,r=30 mA, V,=4.2 V . . . .
=100 Hz, CL=100 p F
RR ’ Y 35 Y dB K7
IR | 1,,=30 mA, V,=4.2 V N N ¢
* Vair) 4.2V
(VOUTI) VOUTl 98% (VINZ) (VINZ_VOUTI)
2. S-81328HG-KO-X
4
( 1 Ta=25°C)
Min. Typ. Max .
Vor V,=4.8 V, 1,,,;=30 mA 2.733 | 2.800 | 2.867 v 1
* Vi 1,,,;=30 mA Y, 0.14 | 0.28 v 1
lor=10 p A 30 mA
V, our Y 60 150 v 1
our V,=4.8 V N "
Iy V,=4.8 V, Y, 16 30 A 2
— Yor Vi=3.8V 115V % | 0.04 | 0.2 | wv 1
Viv Vo 1o;r=30 mA
Vi Y Y 15 v Y
Vour 1o,r=30 mA, V,=4.8 V . . . .
=100 Hz, CL=100 p F
RR ’ Y 48 Y dB K7
IR | 1,,,=30 mA, V,=4.8 V N N ¢
> Vais) 4.8 V
(VOUTI) VOUTl 98% (VINZ) (VINZ_VOUTI)
3. S-81330HG, S-81330HG-KB-X
5
( 1 Ta=25°C)
Min. Typ. Max .
Vor Vy=5 V, 1,,,=30 mA 2.928 | 3.000 | 3.072 v 1
* Vi 1,,;=30 mA Y, 0.14 | 0.28 v 1
Vour l0r=10 1 A 30 mA % 60 150 v 1
V=5 V
I V=5 V, Y 16 30 A 2
—Vor Vu=aV 15 V % | 0.04 | 0.2 | wwv 1
Viv Vo 1o;r=30 mA
Vi Y Y 15 v Y
Vour 1o,r=30 mA, V=5 V . . . .
=100 Hz, CL=100 p F
RR ’ Y 48 Y dB K7
IR | 1,,,=30 A, V,,=5 V N N ¢
* (Vd if) 5 V (VOUTI)
VOUTl 98% (VINZ) (VINZ_VOUTI)



S-813

4. S-81331HG-K3-X

6. S-81333HG-KF-X

6
( 1 Ta=25°C)
Min. Typ. Max .
Vour Vy=5.1 V, 14,=30 mA 3.026 | 3.100 | 3.174 v 1
Vyir 1,,=30 mA Y 0.14 | 0.28 v 1
lo,r=10u A 30 mA
Vv our 2 60 150 v 1
our V5.1V !
I V,=5.1 V, Y 16 30 A 2
Vour V,=4.1V 15V .
—— Z 0.04 0.2 %V 1
Viw Vour 1o;r=30 mA ! 0
Vy Y Y 15 v Y
Vour 1,;=30 MA, V,,=5.1 V . . ] .
Ta Ta=-30°C  80°C Ya + 0.37 Ya mv/°C Ya
=100 Hz, CL=100 p F
RR ’ Y 48 Y dB Vs
IR | 1,,=30 mA, V,,=5.1 V ! ! ’
* Vi) 5.1V
(VOUTl) VOUTl 98% (VINZ) (VINZ_VOUTl)
5. S-81332HG, S-81332HG-KC-X
7
( 1 Ta=25°C)
Min. Typ. Max .
Vour Vy=5.2 V, 14,=30 mA 3.123 | 3.200 | 3.277 v 1
Vyir 1,,=30 mA Y 0.14 | 0.28 v 1
1,10 p A 30 mA
V out ¥, 60 150 mv 1
our V5.2 V !
I V,=5.2 V, Y 16 30 A 2
Vour V=4V 15V 3
—— Z 0.04 0.2 %V 1
Viw Vour 1o, =30 mA ! 0
Vi Y Y 15 v Y
Vour 1,;=30 MA, V,,=5.2 V . . ] .
Ta Ta=-30°C 80°C Ya + 0.40 7 mv/°C Ya
=100 Hz, CL=100 p F
RR ’ Y 48 Y dB Vs
IR | 1,,=30 mA, V,,=5.2 V ! ! ’
Vair) 5.2V
(VOUTl) VOUTl 98% (VINZ) (VINZ_VOUTl)
8
( 1 Ta=25°C)
Min. Typ. Max .
Vor V,=5.3 V, 14,;=30 mA 3.221 | 3.300 | 3.379 v 1
Vi 1,,,;=30 mA Y, 0.14 | 0.28 v 1
lor=10 p A 30 mA
V, our Y 60 150 v 1
our V,=5.3 V N "
I V,=5.3 V, Y, 16 30 A 2
Vour V4.3V 15V Y 0.04 0.2 vy 1
Viv Vo 1o;r=30 mA
Vi Y Y 15 v Y
Vour 1o,r=30 mA, V,=5.3 V . . . .
Ta Ta=-30°C 80°C Y + 0.40 Ya mv/°C Ya
=100 Hz, CL=100 p F
RR ’ Y 48 Y dB K7
| RR | 1,30 MA, V,=5.3 V ! ! !
Vair) 5.3V Vours)
VOUTl 98% (VINZ) (VINZ_VOUTI)




S-813
7. S-81335HG-KI-X
9
( : Ta=25°C)
Min. Typ. Max .
Vour Vy=5.5 V, 14,=30 mA 3.416 | 3.500 | 3.584 v 1
* Vyir 1,,=30 mA Y 0.14 | 0.28 v 1
Vour 'OUTzl\f _“5 A5 \?o A Y, 60 150 mv 1
INTVY -
I V,=5.5 V, Y 16 30 A 2
Vour V,=4.5V 15V .
Z 0.04 0.2 %V 1
Viw Vour 1o, =30 mA ! 0
Vi Y Y 15 v Y
Vour 1,;=30 MA, V,,=5.5 V
Ta Ta=-30°C 80°C ¥4 + 0.41 ¥4 mv/°C 7
| RR | flzlti%OH;’A Cbzl_og 5”\/F Ya 48 Ya dB %
ouT— L) INTY -
* Vai) 5.5V Vours)
VOUTl 98% (VINZ) (VINZ_VOUTl)
8. S-81337HG-KE-X
10
( : Ta=25°C)
Min. Typ. Max .
Vour Vy=5.7 V, 14,=30 mA 3.611 | 3.700 | 3.789 v 1
* Vyir 1,,=30 mA Y 0.14 | 0.28 v 1
Vour 'OUTzl\f _“5A7 \?o A Y, 60 150 mv 1
INTVY -
I Vi=5.7 V, Y 16 30 U A 2
Vour V=4.7V 15V 3
Z 0.04 0.2 %V 1
Viw Vour 1o;r=30 mA ! 0
Vi Y Y 15 v Y
Vour 1,,=30 MA, V,,=5.7 V
Ta Ta=-30°C 80°C ¥4 + 0.43 ¥4 mv/°C Y
| RR | flzlti%OH;’A Cbzl_og 7”\/F Ya 48 Ya dB %
ouT— L) INTY -
* Vai) 5.7V Vours)
VOUTl 98% (VINZ) (VINZ_VOUTl)
9. S-81340HG-KJ-X
11
( 1 Ta=25°C)
Min. Typ. Max .
Vor V=6 V, 15,40 mA 3.904 | 4.000 | 4.096 v 1
* Vyir 1,,=40 mA Y 0.12 | 0.24 v 1
Vour '°UT:5?/ M g V6° mA Ya 70 110 mv 1
INT
I V=6V, Y 16 30 U A 2
Vour V=5V 15V 3
Z 0.04 0.2 %V 1
Viw Vour 1o;r=40 mA ! 0
Vi Y Y 15 v Y
Vour 1,,=40 MA, V,,=6 V
Ta Ta=-30°C 80°C Ya + 0.46 Ya mv/°C Ya
| RR | leloq 4';')2;n AClelo_oe‘ilF 2 45 2 dB Y
ouT™ L] INT
* Vai) 6V Vours)
VOUTl 98% (VINZ) (VINZ_VOUTl)



S-813
10.  S-81342HG-KN-X
12
( 1 Ta=25°C)
Min. Typ. Max .
Vour Vy=6.2 V, 14,;=40 mA 4.099 | 4.200 | 4.301 v 1
* Ve 1,,;=40 mA Y, 0.12 | 0.24 v 1
1;7=50 p A 60 mA
V out ¥, 70 110 mv 1
our V,=6.2 V !
I V,=6.2 V, Y, 16 30 A 2
Vour V,=5.2 V 15V .
Z 0.04 0.2 %V 1
Vin Vo 1o;r=40 mA ! 0
Vi Y Y 15 V Ya
_ Vo loyr=40 mA, V=6 V s s o s
Ta Ta=-30°C 80°C Ya + 0.48 7 mv/°C Ya
=100 Hz, CL=100 p F
RR ’ Y 45 Y dB Vs
IR | 1,,,=40 mA, V,,=6.2 V ! ! ’
* Veaie) 6.2V
(VOUTl) VOUTl 98% (VINZ) (VINZ_VOUTl)
11.  S-81343HG-KP-X
13
( 1 Ta=25°C)
Min. Typ. Max .
Vour V,=6.3 V, 1,,=40 mA 4.197 | 4.300 | 4.403 v 1
* Ve 1,,;=40 mA Y, 0.12 | 0.24 v 1
1;7=50 p A 60 mA
V out ¥, 70 110 mv 1
our V,=6.3 V !
I V,=6.3 V, Y, 16 30 A 2
Vour V,=5.3 V 15V .
—— Z 0.04 0.2 %V 1
Vin Vo 1o;r=40 mA ! 0
Vi Y Y 15 V Y
_ Var 1or=40 MA, V,,=6.3 V . . ] .
Ta Ta=-30°C 80°C Ya + 0.49 Ya mv/°C Ya
=100 Hz, CL=100 p F
RR ’ Y 45 Y dB Vs
IR | 1,,,=40 mA, V,,=6.3 V ! ! ’
* Vair) 6.3V
(VOUTl) VOUTl 98% (VINZ) (VINZ_VOUTl)
12.  S-81347HG-KQ-X
14
( 1 Ta=25°C)
Min. Typ. Max .
Vour Vy=6.7 V, 14,;=40 mA 4.587 | 4.700 | 4.813 v 1
* Ve 1,,;=40 mA Y, 0.12 | 0.24 v 1
1;7=50 p A 60 mA
V out ¥, 70 110 \ 1
or Vy=6.7 V ) "
I V,=6.7 V, Y, 16 30 A 2
Vour V,=5.7 V 15V .
Z 0.04 0.2 %V 1
Vin Vo 1o;r=40 mA ! 0
vy, Y, Y, 15 v %
Vour 1,;=40 MA, V,,=6.7 V . . ] .
Ta Ta=-30°C 80°C Ya + 0.53 7 mv/°C Ya
=100 Hz, CL=100 p F
RR ’ Y 45 Y dB Y
IR | 1,,,=40 mA, V,,=6.7 V ! ! ’
Vair) 6.7V
(VOUTl) VOUTl 98% (VINZ) (VINZ_VOUTl)




S-813
13.  S-81350HG, S-81350HG-KD-X ¢/
15
( 1 Ta=25°C)
Min. Typ. Max .
Vor V=7 V, 15,=40 mA 4.88 | 5.00 | 5.12 v 1
* Vyir 1,,=40 mA Y 0.12 | 0.24 v 1
1,50 4 A 60 mA
V out ¥, 70 110 mv 1
out V=7 V 4
I V=7V, Y 16 30 A 2
Vour V=6 V 15V 3
Ya 0.04 0.2 %IV 1
Viw Vour 1o;r=40 mA
Vi Y Y 15 v Y
Vour 1,,=40 MA, V=7 V
Ta Ta=-30°C 80°C Ya + 0.53 Ya mv/°C Y
=100 Hz, CL=100 p F
RR ’ Y 45 Y dB §Z
IR | 15, =40 mA, V=7 V ! ! ’
- Vair) v GVour)
VOUTl 98% (VINZ) (VINZ_VOUTl)
14.  S-81352HG-KL-X
16
( 1 Ta=25°C)
Min. Typ. Max .
Vour Vy=7.2 V, 1=40 mA 5.075 | 5.200 | 5.325 v 1
* Vyir 1,,=40 mA Y 0.12 | 0.24 v 1
1o,i=50 p A 60 mA
V out ¥, 70 110 mv 1
our Vy=7.2 V !
I V,=6.3 V, Y 16 30 A 2
Vour V6.2 V 15V .
Ya 0.04 0.2 %IV 1
Vin Vo 1o;r=40 mA
Vi Ya Ya 15 \ Ya
Vour loyr=40 mA, V,=7.2 V
Ta Ta=-30°C 80°C Ya + 0.53 Ya mv/°C Y
=100 Hz, CL=100 p F
RR y Y 45 Y dB §Z
IR | 1,,,=40 mA, V,=7.2 V ! ! ’
B Vair) 7.2V
(VOUTl) VOUTl 98% (VINZ) (VINZ_VOUTl)
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S-813
|
1.
, ( 8) 4V« 8V (S-81330HG) ,
6V« 10V (S-81350HG), ov-10v
9
T AV« 8V 6V« 10V
8V (10v) ( ) : S-81350HG
4V (6Y)
- OV 10V
1ov
oV
8
Amp.
Viy S-813 ‘ Vour
Vss R
P.G G
9

10



S-813

I:I V=4V« 8Y)

S-81330HG C=22u F, 1,,;=30mA, Ta=25°C
|
|
3V |
av_| '
(5v/div) :
1
|
—— — e —— __________'____________—_____
|
| .
A | A
(100mv/div) vv | A
]
|
|
t (Ims/div)
10
17
Loyt 5 80mA
C, 1 47uF
Vi 1 4av
Ta 30 +80°C
S-81330HG C=22u F, 1,,;=30mA, Ta=25°C
10V 5
Vi .
(5v/div) :
0V :
Vour :
(200mv/div) .
t (Ims/div)
11
18
Loyt 5 80mA
C, 1 47uF
Ta 30 +80°C
s Vour (UDE ©D, ([UDE (Ta)

11



S-813
1. oy
1.1
S-81330HG S-81350HG
1000 T T T T 1000 ]
C,=22u F, Ta=25°C .7
800 800 ™ ¢ =22p F, Ta=25°C |
600 ] 600
400 400
) () ]
— L
200 200
0 0
0 20 40 60 80 100 0 20 40 60 80 100
losr (MA) loyr (MA)
1.2
S-81330HG S-81350HG
1000 T T T T 1000 T T T T
C,=22p F, Ta=25°C C,=22p F, Ta=25°C
800 800
- -
. -
600 600
4
4
-
400 1 400
(mv) L - (mv)
L4
- gt /
200 200
|
0 0
0 20 40 60 80 100 0 20 40 60 80 100
losr (MA) loyr (MA)
2. C
2.1
S-81330HG
2500 | | T T 3000 S-81350H0
losr=30mA, Ta=25°C 1or=40mA, Ta=25°C
2000 2500
1500 2000 R
. 1500 v
1000 ¥ L 8
(V) 1 M) 1000 >
~ -~
~ N N -~ - —
500 < -4 500 \\
[ ——T—— '\\§
0
8 10 20 30 40 50 0 10 20 30 40 50
RCRY SRCRY
—Typical
= =lorst

12



S-813
2.2
S-81330HG
1500 -— - S-81350HG
T T T T
losr=30mA, Ta=25°C lor=40mA, Ta=25°C
2500
1500
(M) 500 » (™) 1000 »
4 - d
N [t 500 F~—3—
\ 4 - —
‘\ O
0
0 10 20 30 40 50 0 10 20 30 40 50
SRCRY SRCRY
VIN
3.1
S-81330HG S-81350HG
500 T T T 1000 T T T
C.=22u F, ' C=22p F, 4
I 1,,;=30mA, ! L 1or=40mA, )
4001 ratosec N 800 ™ Ta=05°¢ R
2 ,
300 7 600 7
’
’
1/
200 T 400
) . / ) '
]
"4 /
100 / 200 //
0 0 —uni
0 2 4 6 8 10 0 2 4 6 8 10 &yp'ia'
v2* (V) V2 (V) ors
* V2 S-81330HG 4V, S-81350HG 6V
) S-81330HG , V2=6V , Ve 6V
3.2
S-81330HG S-81350HG
500 T T T 1000 T T T
C.=22u F, C=22p F,
| 1,,,=30mA, | 1o,r=40mA,
4001 ralosec 800 ™ 1a=05°C
300 > 600
14 I 4
, 4
200 v 400 7
() ' (mv) ’
, 14
100 /r/ 200
0 0 —_—uni
0 2 4 6 8 10 0 2 4 6 8 10 &yp'ia'
v2* (V) V2 (V) ors
* V2 S-81330HG 4V, S-81350HG 6V
) S-81330HG , V2=6V , Ve 6V

13



S-813

4.1

()

4.2

)

14

S-81330HG
1000 T T
C.=22u F, 1y,;=30mA
800 [
~
4|
600 N
\ -
400 =
200
0
30 0 50 80
Ta (°C)
S-81330HG
500 T T
C.=22u F, 1y,;=30mA
400
300 B S -
200
100
0
30 0 50 80

Ta (°C)

S-81350HG
1500 [ .
. C.=22u F,
1200 s 1,,7=40mA
~
1000 v
\..
800 ———
600
(V) 400
200
0
30 0 50 80
Ta (°C)
S-81350HG
1000
an C.=22u F,
600 —24— Tar=40mA ]
~
~
~-
600 =TT
-~
400
(mv)
200 —
0
30 0 50 80
Ta (°C)

—Typical
= =Worst



S-813
IOUT
1.1
S-81330HG S-81350HG
1000 — 1500 —
R C=22u F, C.=22u F,
~ L Ta=25C 1200 Ta=25°C
800 = L
T 1000 C
L ~ d
600 800 ~—J
e B
600
400
(mv) (mVv) 400
200 200
0
. 0 20 40 60 80 100
0 20 40 60 80 100 loyr (MA)
loyr (MA)
1.2
S-81330HG S-81350HG
500 500 —
LA JEEE
C,=22p F, Ta=25°C S Ta=25°C
400 400 . -
L 3
4 A
300 300
200 41" 1 200
) ' ) /
100 — 100
0 0
0 20 40 60 80 100 0 20 40 60 80 100
loyr (MA) loyr (MA)
. C
2.1
S-81330HG S-81350HG
3000 — T 1000 I-F-
1,,;=30mA, Ta=25°C -1
" 1,,r=40mA,
2500 800 | _[1a-25°C 1
-
2000 —\\
600 AN
1500
v * v 400 ™~
m m
M) 000 — )
500 200
\
\\
0
0 10 20 30 40 =0 % 10 2 30 40 50 Typical
—Typica
D) ) - =Worst
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S-813
2.2
S-81330HG S-81350HG
500 - 500
LS
1o,r=30MA, . o
Py ]~ r ~
400 Ta=25°C . 400 7 s
)
' ! 1g=40mA, M
300 300 [ Ta=25°C
~ 1
~
200 *— 200 —
) .. ) N
\--_— ~
100 100
NS
0 0
10 20 30 40 50 0 10 20 30 40 50
C.(UF) CCP
3.
3.1
S-81330HG S-81350HG
1500 . 1500
C=22u F, C=22u F,
1200 |7 1,=30mA | 1200 l=40mA 7]
~
1000 T~ 1000 =9 - - - -- -
~ .
800 — 800
/'
600 600
(mv) 400 (mv) 400
200 200
0 0
30 0 50 80 30 0 50 80
Ta (°C) Ta (°C)
3.2
S-81330HG S-81350HG
500 I I 1000 .
C.=22u F, 1,,;=30mA C=22p F,
14,7=40mA
400 800
300 [ 600
200 = 400
(nv) (nv) .
/\
100 200
0 0
30 0 R0 80 30 0 BN 80 — Typical
Ta (°C) Ta (°0) = = Worst
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S-813
S-813 (S-81330HG = 10p A« 30mA, S-81350HG : 50p A« 40mA)
) 12
13
101 A 500 &) ( ) : S-81350HG
30mA (40mA)
12
Vin S-813 Vour
. C
VSS
i
13
S-81330HG V=5V, C=22u F, Ta=25°C
|
1o, =1Qu A |
|
|
T
1, =3QmA I 1,r=30mA
I
|
— — — e —— — — — — _—_—_—_'—_—_—_— b — — ] ——— e —— ]
|
A . B
A |
l AJ
(60mv/div) I
I |
|
1
t (Ims/div)
A B
14
19
lour 50p A« 40 70mA
C. 1 47pF
N S-81330HG 3.4 b5V
" S-81350HG 5.4 7V
Ta 30 +80°C

Vour o) > ), (UDE (Ta)



S-813
1. Moy
1.1 1.2
S-81330HG S-81350HG
500 T T 500 T T
VlN:YV, V|N:7V1
C=22u F, _| | C=22u F,
400 Ta=25°C 400 ™ 1a=p50¢ '
4
300 . 300 ¢
lo *
*
200 \g 200
(mv) I (mv)
100 100
//
0 0
0 20 40 60 80 100 0O 20 40 60 80 100
* * —Typical
12 A 12 A
(mA) (mA) = =Worst
* 12 500 A
) 12=50mA , 504 A« 50mA
2. C
2.1
S-81330HG S-81350HG
500 T T T T 1000 T T T T
V=5V, Ta=25°C V, =7V, Ta=25°C
400 800
300 600
200 400
(mv) (mv) .
<
100+ 200 = N
=1 = e
\ . B
0 0
0 10 20 30 40 50 0 10 20 30 40 50
C. WP C (P
2.2
S-81330HG S-81350HG
500 T T T T 1000 T T T T
V=5V, Ta=25°C V, =7V, Ta=25°C
400 800
300 600
200 400 [—*
(mv) . (mv) 1.
A 3 L ~
100 =3 200 T4~
N 1~ 4. N\
\\~ \\~
0 0
0 10 20 30 40 50 0 10 20 30 40 50 )
—Typical
CL (H F) CL (H F) = =|lorst

18



S-813
3.1
S-81330HG S-81350HG
500 T T T T 500 T T T T
C.=22p F, Ta=25°C C.=22p F, Ta=25°C
400 400
300 300
200 200
(mv) (mv) o -
100 100
—J
0 0
4 5 6 7 8 3 4 5 6 7
Vie (V) Viv (V)
3.2
S-81330HG S-81350HG
500 T T T T 500 T T T T
C,=22p F, Ta=25°C C,=22up F, Ta=25°C
400 400
300 300
200 200
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